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Which of the following are NOT the

characteristics of adult learners?

frafafiga & @ @9 aas Pranfaan &
fargrear =& &2
(A) They are matured learners/

d uRuea feendf g@ &

(B) They can act rationally/
dfchehal & 1 H G & |

(C) They search for a reasonably stable identity/
3faa fer vgam @9 €1

(D) They can make balanced choice/
9 F=qferd 99 & G 3 |

(E) Often question contemporary values/

TR FHEMIAE Yol W ¥ 330 2 |

Choose the most appropriate answer from the
options given below :
Tad IUGh I & TGS FifTAd—
(a) (A) and (B) only/&dd (A) 3K (B)
(b) (A) and (D) only/&ad (A) 3R (D)
(¢) (C) and (E) only/&ad (C) 3R (E)
(d) (C) and (D) only/&a@a (C) 3R (D)
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Which of the following are NOT the

characteristics of adult learners?

mﬁﬁﬂ?mmaﬁ
fergrarar =i &7

(A) They are matured learners/
a sftuea fendf 2 €1

(B) They can act rationally/
dfchehe & HE F Tehd & |

(C/They search for a reasonably stable identity/
a 3fuq fier vgam @i 2
(D) They can make balanced choice/

d Tferd 999 T Fhd ¢ |

y Often question contemporary values/
TR THEMAS Jodi W ¥9H 331 2 |

Choose the most appropriate answer from the

options given below :=<r f&ar & faereat & &
[ad IUYTh I &1 AT ST —
(a) (A) and (B) only/aﬁ'ﬂ (A) 3 (B)
(b) (A) and (D) only/&dd (A) 3R (D)
) (C)and (E) only/&dd (C) 3R (E)
(d) (C) and (D) only/&a@a (C) 3R (D)

NTA UGC NET/JRF June 2021(05-01-2022 Shift-1)

IiZns. (ci GpLE) f@WTm?ﬂ & ﬁﬂﬁiﬁﬁﬁ %ﬁm

oémm'ﬁﬁﬁgl

o 3 Aifhaar & & L T&d ¢

o 3 Hafer 959 F Fahd &

® 3 T IE & €|
o 3 foari § dravficmn 7@ gt 2, 3|
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. Given below are two statements

et 3t e feg T #:

Statement I: Operant
discovered by Thorndike.

®UA- |: foraT YUA de @t Wi gieEs
T @ offl

Statement Il: Classical conditioning was

discovered by Ivan Pavlov.
®oA- 1I: FHET SAHEH @ @A 3A

aetia 3 &1 o

In light of the above statements, choose the
most appropriate answer from the options given

below 3UITH &AL & 3Merer |, e fow Mo

conditioning  was

(a) Both Statement I and Statement II are
false/@4 | 3R 11 21 e 2

(b) Both Statement | and Statement Il are true
e 1 3 11 3T 98 3

(c) Statement I 1s false but Statement II 1s true
@ | e 2, e e 11

(d) Statement I 1s true but Statement II 1s false
@ | T 2, feq B 1] T2

NTA UGC NET/JRF June 20 %01-2022 Shift-I)
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V’DD“' (a) Both Statement | and Statement I are

| ?ﬁ%e':ﬁb;:gr‘:r g&mgatemem 'D\M% false/@9 1 3R 11 21 e @

Statement I: Operant conditioning was (b) Both Statement | and Statement Il are true

discovered by Thorndike. - © @91:{ ! 3#{[” af:? qi[ ¢ X "
- 1: foran v gamq e\ E;:D c)/Statement | 1s false but Statement Il is true
X & ot [ | TR €, feheq e 11 Wel @

d) Statement I 1s true but Statement II 1s false
Statement Il: Classical conditioning was ( ~
discovered by Ivan Pavlov. | 2, o] 2 11 Terd @ .
&Haa- 11 mﬁ:raﬁ m & -@'1-3 za= NTA UGC NET/JRF June 2021(04-01-2022 Shift-I)

aetia 3 &1 o

In light of the above statements, choose the NTA UGC NET/JRF June 2021(04-01-2022 Shift-I)

most appropriate answer from the options given Ans. (¢) HIF-1 Ted @ Fifh a1 A HeH, a0S
helowppp et IR Yaoq & g e Sihar, & @ & U WA A

fraedt # M| FAA-11 G 2 Hifh FfES HeA, e 9
e Hferm, & @Sl 39 diaara 4 3@ 4
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Match List I with List 11

it 1t gt 11 9 gafera s
List 1/3=H 1 List 1I/3= 11
Information Processing|Developer/
Model/ AT WHIERIUT|faaRTE hdl
wreet
A. Inductive thinking/|l. Hilda
THATH R Taba/fgesT 2TaT
B. Mnemonics/@Jf II. Michael
fas= Pressley/ ATgahcT
AT
C. Advance I11. Bill Gordon/
Organisers/ 373w faer g
sk
D. Synetics/ |TEET|IV. David Ausubel/
AT & TSl sfae
fafer (faafeaT)

Choose the correct answer from the options
given below:
rer fau 7o faweat @ 9 @ 39 g

(a) A-1,B-I1,C-I1V,D -III

(b) A-1II,B-IV,C-III, D -l

(¢c) A-III,B-1,C-I1I,D-IV

(d) A-IV,B-IlIl1,C-1,D-II

NTA UGC NET/JRF June 2021(27-12-2021 Shift-11)




Match List I with List 11

et 1 &t 9=t 11 9 gafera arfaa:

List 1/4=H 1 List II/A=H 11

Ans. (a) : T8I gafad gdi f=aa =

Information Processing|Developer/
Model/ ToAT YHERIUT|faarT ahdl

"o

A1

( TEAT YEERIUT "ige ) QCEALETI

(1) Beer zmEn

A. Inductive thinking/|l. Hilda
ANTHATEHS @r=f — |  Taba/fgest 2man

(i) AT St

B. Mnemonics/&TJfe II. Michael

(iv) Efag Argad

gaET gHME & (iii) faa e

fasa= _ Pressley/ ATgehct
el

C. Advance I11. Bill Gordon/
Organisers/ 370w farer g
|3k A 4

D. Synetics/ IV. David Ausubel/
QUTET ahi
fafer (faafea)

Choose the correct answer from the options
given below:
feu 7o faereat ® | wEt 39T TfHu:

a) A-1,B-11,C-IV, D -1l

(b) A-Il,B-IV ,C-III, D -I

(¢c) A-llI,B-1,C-Il,D-IV

(d) A-IV,B-III,C-1,D-II
NTA UGC NET/JRF June 2021(27-12-2021 Shift-11)
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What percent of the children's brain
development occurs grior to 6 years?

6 T @ AT W Uge aoell oh Witk ahl Tehel \/\
(a) 25% 45%

(b)
(¢c) 65% (d) 852
NTA UGC NET/JRF June 2021(04-01-2022 Shift-I) D




What percent of the children's brain

development occurs prior to 6 years?
6 ad i 3T | ﬂzg ol o Oitash ot feha

gfaora faerma gt Srar &7

(@) 25% (b) 45%
() 65% d) 85% Vi
NTA UGC NET/JRF June z‘o’[nm—(r\r. 22022 Shift-I)

Ans. (d) : AR AFE TR S 5907 e 8 3R I &
N9 TS 3HEd H9 IS F smaaT #1(Q5%
gl 8, Ugdt 91 H I8 A (50%)aF & A g1 Tg Online Study & °
I, 2 a9 T 75%, 3 a¥ ad 80% N 6 a9 @ 7g||

qufa:) faem A & | L b oy

~——
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Arrange the given objectives for cognitive
domain in hierarchical order as the basis of the

complexity of the task/HFATHTH®
frafafiaa SEvat ot @ &t Jfeerar & R

T USHUT TR ThH | Safierd shifwu:
A. Application/aﬂﬂﬁm

B. Evaluation/Jcaich

C. Knowledge/3TH

D. Analysis/fageraon

E. Synthesis/ﬁ?ﬁ'ﬂm

Choose the correct answer from the options

%\'aenhelow
ﬁqnqﬁm’rﬁﬁnﬂwwm

(a)AEBDC (b) B,D,C,E, A
(c) C,A,D,E,B (d) D,B,C,AE
\ UGC NET/JRF_\sze 2031(2‘7-13 ZGZLShift-lQ




Arrange the given objectives for cognitive r_'—pns(c) e aq% ﬁ-an-& 3%@@ Ei:q

domain in hierarchical order as the basiégf tl; | forar T 2
complexity of the task/HHTH® A &7 & 3 T R &
mmﬁmaﬁmaﬁm C=3M, A=W'
T YA T | Saftad : D = favemu, E = Ty

A. Application/agamr WV B = i

B. Evaluation@wm
C. Knowledge/fH — "~ _—
D. Analysis/farversur

E. Synthesis/HyeTau

Choose the correct answer from the options
%‘;“ below: Easy Notes 4u .

ﬁq R faweat o '& '{T@ 30 Rl 94 Online Study &

(a) A..
(c) C,
\ UGC

E,B,D,C J (b) B,D,C,E, A
A,D,E B (d) D,B,C,AE
NET/JRF June 2031(2‘7-12-2021 Shift-11)




9. Match List I with List 11

List 1 List 11
Behavoural model Developer
A. Mastery learning I. Albert Bandura
B. Direct Instruction I1. Tom Good
C. Simulation I11. Benjamin Bloom
D. Social learning IV. Carl Smith
Tl - | ol 9ot - [ & Gufeid ahifa

T -1 T -1
(CTAEHTcHeh WieTHT) (FFmtuTeRa)
A. ORI feTH . 3TTae aigl
B. weaet e .2 g
C. 3rg&uar 1. S=ATH s/
D. ATHT e TR IV. &iet g
Choose the correct answer from the options

iven below: L

Sra fau o faseutl § & wE 3w AT

(a) A-I, B -III, C -1, D -1V
(b) A-II, B -1V, C -1, D -III
(¢) A-IIL, B-II, C -1V, D -I
(d) A-1V, B -1, C -1II, D -II
NTA UGC NET/JRF June 2021(27-12-2021 Shift-I)
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9. Match List I with List Il Ans. (¢) :'{-Tﬁ gﬁﬁﬁ'ﬁ '{Irﬂ ﬁ'ﬂa?[—
List | List 11 Tt -1 gt -1
Behavoural model Developer (AR FTeaT) (FrmTuTaRa)
A. Mastery learnin I. Albert Bandura .
B. Direct lnstructiogl%l. Tom Good A. S m ML m =t
C. Simulation i I11. Benjamin Bloom B. 5o =W I1.<cH T
D. Social learning L IV. Carl Smith

gl -1 &t Tt - [ § Gafd Sl
Tt -1 =t -1l

(ATERTHER FiaHTA) (FATUTeRar)

A. UTHTE e /| 1. srree s@iga

B. Weagt a9 /[ [nzmTE

C. ITT&aar /| 1. @t sm

D. |mTSes AErm /| V. @ie [y

Choose the correct answer from the options Easy. Notes 4u
iven below: Online Study

St fan e fament o e At

(a) A-I, B -III, C-II, D -IV

(b) A-1I, B -1V, C -1, D -l

(c) A-III, B -II, C-IV, D -]

(d) A-IV,B -1, C-III, D -II

NTA UGC NET/JRF June 2001(27-12-2021 Shift-I)
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Which among the fnllnwm& constitute personal

competence?/ FEfeTRg
STt ot formior &hed €2 1
1. Empathy/Auryfe ~

2. Motivation/3TRgur

3. Social skills/@TaTFSER YT
4. Self awareness/¥-STRhAT
5. Self regulation/31Ted-farT

Choose the correct answer from the options
given below: ﬁQTIE U | wEt I

& T HITAU

(a) l,2and30nly/aa_cl?l 1,2 3R 3

(b) 2,3and40n]y?mﬂ 2, 3 3 4

(c) 2,4and50n]y/§ﬂﬂ 2, 4 5

(d) 3,4and50nly/aa‘d?l 3, 4 3R S

NTA !IGC NET/JRF June‘2021(26-12-}0%I‘Shift-ll)l




Which among the fnlluwm& constitute personal

competence?/ FfifEd ¥ ¥ ®H-¥ dafvhd

a—

ST T fmior & &7 —
1. Empathy/Awmrgafa
2. Motivation/3fgwor +/
3. Social skills/ATATCEh chT9Tet
4. Self awareness/ - ST&ehAT /
5. Self regulation/3Ted- e/

Choose the correct answer from the options
given below: /et fau u fasent & @ wet 3w

& T it

(a) l,2and30nly/aﬁ?l 1 2 3 3

(b) 2,3and4only/3>‘cf€l 2, 3 3 4 /
(c) 2,4and50nly/3ﬁﬂ 2, 4 35

(d) 3,4 and 5 only/Fad 3, 4 3 S

NTA UGC NET/JRF June 2021(26-12-2021 Shift-11)

(zs_(;)l afthe &l Sl ¢ g T3 @l Y A
mﬁlﬁmﬁﬁaﬁéuﬁﬁmmﬁwmaﬂﬁ%
q SEH- A HiaRke  sraenst, adgas

Ol

ST ol E S|

‘;ﬁn £ AR E e 1 O e e o A M
AT T FEE FT
{maTﬁﬁTUTWMFIT{RﬂTEﬁMﬁE@ﬁ
ey a1 gfawr ¥am &l 2

AN

\V
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Given below are two statements:

Statement I: lIdentity diffusion occurs when

individuals explore any option or commit to

any actions.

Statement Il:  Identity foreclosure is

commitment without exploration.

In light of the above statements, choose the

most appropriate answer from the options

given below.

e gt o feu o §

HUA-1 : T Afh fordt fashca &l wu=afua

wd & o fedl feramett @ wiveg @ £,

AT faawur ufea grar g1

wAA-11 : AEET gUeT- ey e &

faraT yfeaargar gt 2

IULTH HAAT o ATeATeR 0, el fau o faemeat

T ¥ Gad IUYTH IO 1 ST HIFAU:

(a) Both statement I and statement Il are correct
F9 1 3R 11 i TE 2

(b) Both statement I and statement II are
incorrect/&aA [ 31X 11 ST TTed 2|

(c) Statement 1 1s correct but statement II 1is
incorrect/®4 | ¥l 8, f=q 11 &2 TTed 2|

(d) Statement I is incorrect but statement II is
correct/®e 1 Ted &, fq &9 11 T 21

NTA UGC NET/JRF June 2021(24-12-2021 Shift-11)
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Given below are two statements:
Statement I: ldentity diffusion occurs when
individuals explore any option or commit to
any actions.
Statement  1I: Identity  foreclosure is
commitment without exploration.
In light of the above statements, choose the
most appropriate answer from the options
given below.

EUCERCULE
wHUA-1 : wa At fodt faswea &t woafaa
wd & ar Tl feramett ¥ wfveg &9 €,
agre famrur afea grar g1 XK
wHAF-11 : dEET gUa- AUy auaenr &

farar ufaagar 2|t 81

IUATH HAAT o ATeleh |, Hrer U faeReat

W o 9ol IUYTH ST T IaT R

(a) Both statement I and statement 1l are correct
F99 1 3R 11 a1 G981 2

(b) Both statement I and statement II are
incorrect/&49 1 317 11 21 TTed 2|

(¢) Statement I 1s correct but statement II 1s
incorrect/&49 1 T&l 2 , fog 11 Fea e 2l

(d) Statement [ is mcorrect but statement II is
correct/HaT | Teid 2, foheq 99 11 T2 2

NTA UGC NET/JRF June 2021(24-12-2021 Shift-11)

\,/ NTA UGC NET/JRF June 2021(24-12-2021 Shift-11)

Ans, (d) : T TF A & R A 4 37 Fafi
Tl 3| A # G R, R fowed &
R W AR I3 Al § Gl a1 R

e famo {5t =i &1 G wem @itd 9
T & fafd €1 78 s g 9§ e A fiem
T a-fy qee & fo sl et 81 o
9 | 370 71 F99 11 5 2
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Match list I with list 11

List-1 List-11

A. Theory of Moral | I. John Horn
Development

B. Theory of Fluid | II. Lawrence
intelligence Kohlberg

C. Theory of IHL.Erik Erikson
Crystallized
Intelligence

D. Moratorium

IV.Raymond Cattell

Tt-1 sl Gei-11 9 94

o

TEt-1 g1l
A. Afder Taert@ ot | L S &4
fagia
B. @A  dlg oAl | IL. BT ahietatt
fagia
C. Wigad dleg o | 111 3ah sa@d
fagia
D. BUT-TH IV. T0UE heat
Choose the correct answer from_the options
given below:/== fau Tw I
g

(a) A-II, B-1V, C-1, D-III (b) A-1V,B-1,C-1I1,D-II

(c) Al

B-I11, C-I1, D-IV(d) A-IIL,B-II,C-1V,D-I

NTA UGC NET/JRF June 2021(24-12-2021 Shift-11)




Match list I with list 11

List-1 List-11

A. Theory of Moygal | I. John Horn
Development

B. Theory of Fluig NI. Lawrence
intelligence Kohlberg

C. Theory of IHIL.Erik Erikson
Crystallized /

Intelligence

D. Moratorium

Tet-1 @t ger-11 9 90

[\ Ragmond Cattell

-1 T=i-11

A. Afdeh TdeRrd  ohl | L. ST &+
fagia

B. @31  dfeg oAl | Il. BT shictadl
fagi=

C. Wihd dlg ol | 11 ek SRaE—
fag=

D. SHUT-TAH IV. A0S hed

Choose the correct answer from_the o

given below:/=r=r fau wg

tions

I

(a) A-II, B-1V, C-1, D-III Jb) A-1V,B-1,C-II1,D-II
(d) A- I[lB IL,C- IVDI

NTA UGC NETIJRF June 2021(24-12-2021 Shift-11)
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- According to the theory of multiple intelligences,
the ability to perceive the visual and spatial world
accuratelv. g:ertams to which human_ability?/

frgia & AR Weidhdr ¥ 799 1@
mﬁm a'@ahﬂs YIGIT dht FAT, WE
TR ¥ Hafrd g7
(a) Naturalist/5fd I3
(b) Interpersonal/3- Jaferd
(¢) Intrapersonal/3f+:- Jafehd

(d) Spalial/?iﬂﬁﬁ —~—
NTA UGC NET/JRF June 202(24-12-2021 Shift-ll)>




.~ According to the theory of multiple intelligences,
the ability to perceive the visual and spatial world
accuratgéz &ertams to which human ablhty"/

g & IR wéida ¥ v v
TG & TG A, WA B (o
mﬁwﬁm?’
(a) Naturalist/5fd a9
(b) Interpersonal/ - qaf
(c) Intrapersonal/3¥+e:- daft
(d) Spahal@ﬂﬁ% v

Easy Notes 4u |
Online Study *

Ans. (d ﬁm@ﬁ%mm
3 HTER A A I g9 AR 3 9fE T

B‘Eﬁ R dfg @R Gl e 7 o o

E

STER GEHA § 399 T @i




Given below are two statements:
Hr=r <1 wa= fou W B:

Statement I : A teacher should ensure that
learning is shifted away from rote method.

T | : Foreres =1 9g giafya w=T = &
rferTy e (FEaa |t ) fafir @ 27 22
Statement II: A teacher should connect
knowledge to life outside the school.

wHaT 11: Vet &1 79w TS F R &
S & 9T Gidg ST Aleu)

In the light of the above statements, choose the
correct answer from the options given below:

IYATh YT o ATeles |, Hrer fau o fawear

o o Wl 3T T FTT hiAU:

(a) Both statement I and statement Il are true/
FAT [ 3 11 &4 9T 2 |

(b) Both statement I and statement Il are false/
FAT 1 3R 11 SHT 3199 g1

(c) Statement l~ 1s true but statement Il 1s false/
FI9 [ 99 2 cifehd $49 11 393 2|

(d) Statement I is false but statement II is true/
F99 | 379HF 2, cifehd 94 11 IF 2|

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)
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Given below are two statements:
Hr=r St @ fou o 2

Statement I : A teacher should ensure that
learnmg is shifted awav from rote method.

. RTeres =T 97 Qafya &=T wney fah
aﬁnmm(maw)%ﬁrﬁgtgﬁl

Statement II: A teacher should connect
knowledge to life 0utsnde the school.

wHAT 11: ereR @ FH H THA ° TE &

Sa= & 9T Wi AT Sl

In the light of the above statements, choose the
correct answer from the options given below:

IUATH AT & ATelle |, Hrer fou o fawmear
o O W 3T T S99 hITAU:

(a) Both statement I and statemem Il are true/
Fa9 [ 3R 11 SH1 G 21

(b) Both statement I and statement Il are false/
FHAF 1 3R 11 ST 319 2|

(c) Statement I is true but statement II is false/
H99 | G 2 eifchd H9= [1 376 2|

(d) Statement I i1s false but statement II is true/
FI9 | 319F &, dAfhd F9 11 T 2|

NTA UGC NET/JRF June 2021(94-12-2021 Shift—l)l

fefareiel e v st 2 fod 27 g
%&mwam@mm
s &8 o, 05 fowg & % gl & afeu 3
g &1 w3 fofd 8 @ e R e S aa
T JH, I AR e @ fEhE & F o
e 1 I & G & ae  SAiad ¥ Fe e
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. Which of the following are the characteristics
of adult learners?

W SIRnmaRdisn el fefeiad o § - o

fergreramd &7

(A) Physiological growth/¥iitfshaTenes gfeg

(B) Increased focus of activities with peer
group/HHERE I-'I'Eljf & |y w
rfirer &am A

(C) Exercise self control/3Treq fasrr
(D) Ability to act rationally/Thund ®U o
& HA H AT

(E) Learning to be independent of guidance

and control/3MrTH wrieylw 3fw T
Th BT e

Choose the most appropriate answer from the
option given below:

fau v faswhedt @ ¥ TaW IUYTH I @
TI AT

(a) (A)and (B) only/&dad (A) 3R (B)

(b) (B)and (C) only/&aa (B) 3R (C)

(¢) (C)and (D) only/&dad (C) 3R (D)

(d) (C), (D) and (E) only/ &ad (C), (D) 3R (E)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)
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. Which of the following are the characteristicsj
of adult learners?

Wig Tnmaaiel & fafaiad § @ & o
Faste 7
(A) Physiological growth/¥iitfshaTenes gfeg

(B) Increased focus of activities with
group/AU&eT TUEl &
atfiren s < /

(C) Exercise self control/3Treq fasrr

(D) Ability to act rationally/d&ETa ®q o
& HH & ATIAT_S

(E) Learning to be independent of guidance

and control/3TrTy WM afrr oo
Th BT e

Choose the most appropriate answer from the

on given below:
Jﬁmmﬁmﬁﬁmmww
REEELELE

eer
| LS

(a) (A)and(B) onlymﬁ (A) 3R
(b) ,(B)and (C
w( (C) and (D) only/&dd (C) 3R

) (C), (D) and (E) only/ &dad (C) (D) 3R (E)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-1)

(B)

C) only/&da (B) 3#{ (C)

(D)

@:sﬁmmmﬁmé-

» 7 fen @-fdfim 21
rmmmum‘maﬂ!ﬂmm
rmﬂ'@c'
rmaﬁnﬂm%@mmma
p 3 s




Which of these decision traps pertain to

personal qualities?/ffeafiga ¥ & &= fuia-
TTYT drafhes U W T 87

(A) Frame blindness/3T=I-fa=ama

(B) Overconfidence/37fd-fergamd

(C) Taking shortcuts/Sfére ﬂm'i?l;ﬂ'{'ﬂT

(D) Being unsystematic/3Teaafierd AE |

(E) Not keeping records/R@is gl 1@

Choose the correct answer from_the options
given below:/ Fret feu o faeeat W ® WEr 3T

CACPEECHIELE

(a) (A), B) C) only/&ad (A), (B), (C)
(b) (B), (C), (D) only/&ae (B), (C), (D)
() (A) only/%ﬂﬂ (A), (C), (D)
(d) (C), (D) (E ) only/dad (C), (D), (E)

NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)




Which of these decision traps pertain to

personal qualities?/Ffegd § & &= fAufa-

(i, (178 0 9 3 ot T 3 &9 7 a7

TTYT aftheh U | HIA §7
(A) Frame blindness/31I- =
(B) Overconfidence/3fe-faryara v

(C) Taking shortcuts/ST&Te ATTIE0T /
(D) Being unsystematic/3Teaara g /

(E) Not keeping records/ReTe =& 1@
Choose the correct answer from_the options

given below:/ et fau 70 forsreat W | WET I

CACDERC |1

() (A), (B), (C) only/dd (A), (B), (C)
~1(B), (C), (D) only/Fae (B), (C), (D)

(¢) (A), (C), (D) only/dad (A), (C), (D)

(d) (C), (D), (E) only/&ad (C), (D), (E)

NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)
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. Which of the following are the highest
taxonomic categories in the cognitive, affective
and psychomotor domains of learning?

o | & W G, WA
3T waveTee: A & & W Ivuaw aiffehd
grfuTat 7
(A) Analysis/ﬁ?ﬁm
(B) Evaluation/Jcdiehd
(C) Awareness/3193rd1
(D) Characterization/31fHeeiuTd
(E) Naturalization/Sgsileul

Choose the correct answer from_the options

given below:/ =t fau 7u faaeat # & WEl 3WF

& TG hiTAu—

(a) (A), (B) and (C) only/&a@ (A), (B) 3 (C)
(b) (B), (D) and (E) only/&a (B), (D) 3R (E)
(¢) (B), (C) and (D) only/&aa (B), (C) 3R (D)
(d) (C), (D) and (E) only/&a@ (C), (D) 3R (E)
NTA UGC NET/JRF June 2021(03-12-2021 Shift-1)




. Which of the following are the highest
taxonomic categories in the cognitive, affective

and psychomotor domalns of learning?
ﬁrﬂrpam & Hi AR, e

(A) Anaiysns/ﬁ'ﬂ@lﬂm

(B) Evaluatlonfi?ﬂaﬂ V4

(C) Awareness/3S3r

(D) Characterization/3 e
(E) Naturalization/Sgsii0] v/

Choose the correct answer from_the options
given below:/ ==t fau Tu forereai ® & wgt 3w

&I TIF T A—

(a) (A), (B) and (C) only/&ad (A), B)EA’R C)
(b) (B), (D) and (E) only/&a (B), (D) 3T (E)
(¢) (B), (C) and (D) only/&a< (B), (C)afr((D) '
(d) (C), (D) and (E) only/&ad (C), (D) 3R (E)
NTA UGC NET/JRF June 2021(03-12-2021 Shift-1)
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NSQF  organizes qualification according to

series of levels of T TH & UG fehq o T W
9Tt o ITAR Tt AT Al 87
(a) Knowledge, Skills, Aptitude
M, &IV, g
(b) Knowledge, Skills, Experience
M, F, T
(c) Skills, Achievement, Aptitude
M, I, gl
(d) Skills, Experience, Aptitude
VA, 9,
NTA UGC NET/JRF June 2021(01-12-2021 Shift-IT)




NSQF organizes quahfication according to

series of levels of/ T3 TH & U fem & ot W
STt % SITA FGATaA Bt AT chiel ¢/

(a) Knowledge, Skills, Aptltuv
M, 3N, ﬂﬁqﬁl
(b) Knowledge, Skills, Experience
JH, VA, HH
(c) Skills, Achievement, Aptitude
T, 3V, ﬁﬁ:qf.f
(d) Skills, Experience, Aptitude
3, 99, A
NTA UGC NET/JRF June 2021(01-12-2021 Shift-1T)
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Match List I with List Il

/ List I List 11
\/ Erikson's Stages of Relevant \ (g
Pshychological Development Illustrations
A. Basic trust versus basic| I. Parenting/

mistrust mentoring /
B. Industry versus inferiority | Il. Love

relationships

C. Intimacy versus isolation IIl. School
D. Generativity versus IV. Feeding

stagnation

Choose the correct answer from the options
given below:

=it - 1 =t =it - 11 ¥ gafaa wifsa:

o=t | o=t 11

( Gfiaa= gT atuia ( Gafda 3qreoT)
TaraAT AR faehta =T )
A. 3MYRYA fagrg aam I. SAT=-9Ter-/9Uqe]

TR 3Afagry ga-q HLAT

(FfETy Hzfam)

B. 9fig® I gAar Il. SH-Hay
C. FTHFAT 9911 UHhihiga (1. faareaa (T6e)
D. 3dEHdl a4 Tau" [TV, 9301 (HifE)

Hr=r fau 1T faaheal § @ @&l 37 <Ji-u:
(a) A-ILB-II,C-1II,D -1V

(b) A-TILB-1V.C-1.D-1I
(¢) A-IV.B-1IL.C-II.D -1 \/
N

(d A-IILB-I,C-IV,D-1
NTA UGC NET/JRF June 2031(01-12-2021 Shift-1T1) *
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Match List I with List 11

List 1 List 11
Erikson's Stages of Relevant @c) lfﬂ H1 el ﬁaﬂ? g9 R _E»}—

Pshychological Development Illustrations ‘Fl?ﬂ- 11
A. Basic trust versus basic| I. Parenting/

mistrust ——mentoring ( tﬁam g aftia (wrefifa semE)
B. Industry versys inferigfit /ll. Love ' -q;ﬁ—aam farerT =T )

relationships ,

C. Intimacy versus isolgtio I. School (A) HTEId fgm sam (IV)sa (q§||§11)
D. Generativity versus l 1V. Feeding HIYRYA fagrg

stagnation S E S
Choose the correct answer from the options (B) aRem (111) ( ﬁfl)

given below:

=t - 1 @ e - 11| gafea s

=it | il

( UREE= gIRT afvia (Eefda 3areuT)
TATaAT e faehta =T )
A. 3MERYA fagrg sam I. STA-9Tel-1/9uael

HERYd faa™ g HLAT

(qEfeTy Hefam)
Easy Notes 4u

B. OR&H ST a0 Il. 9-Gsg Online Study
C. FTHIA J411 Uhehigd (1. faamed (=) _
D. 3WEHAT g4 Tauy [TV, 9307 (FHifE)

= fau T1g faseal @ 9 W&l 397 Jiu:

(a) A-LLB-II,C-1III,D -1V

(b) A-IIILB-IV,C-1,D-1I

(c) A-IV,B-III,C-1II,D -1

(d) A-ILB-LLC-1V,.D-111

NTA UGC NET/JRF June 2021(01-12-2021 Shift-1I)
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Match List I with List 11

=T 1 R g 11 3 gatera aafaa:

List I/ =T 1 List 11/ 3T 11 /\
Piaget's Stages of Approximate age/ \
Cognitive Development
’ e Sdea P ( ST 3T ) /
faemrra <% =voT)
A. Sensorimotor/ Hd<l|l. Begins about the
LG ) first grade to early

adolescent, around
11 years old/ ¥9H

e 9 ud fevnaas=n
AT 11 99 &Rt

HATH d<h
B. Preoperational/ I1I. Adolescent to
gd-dfsharss adulthood

frenuarer 9 aa=s

C. Concrete operational/ |1I1. O- 2 years

Hd-dfsears=s 0-2 a9
D. Formal operational/ IV. Begins about the
HATHIH-HishaTHH time the child starts

talking to about 7
years old/a=dai =
AT IE AT o

STHIT 7 9Nl deh

Choose the correct answer from the options
glven below:

r=r fau wo faeseat ¥ 9 ot s=y gfaa: A YD
(a) A-1V, B-I, C-II, D-III )/"/
(b) A-II, B-III, C-1V, D-I A

(c) A-I, B-II, C-I11, D-IV

(d) A-IIIL. B-1V. C-1. D-I1 /
NTA UGC NET/JRF June 202¥{01-12-2021 Jhift-1)
: ! ! 3
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Match List I with List 11

Tt 1 @R gt 11T gatera aetferg;: ﬂ'aT‘F-l i
List I/ =T 1 List 11/ =T 11 Ans. (d) : & Tl‘s; w wl gﬁ \ERAL é
] Pis.lg.et's Stages of Approximate age/ A. m m [11. 0-2 Elﬁ
C(ognltlveal;)eyelopment ( T 34T ) B tﬁ_m vV aﬁ)[ a..’ W .El_a a’_{a, .a
fareRTa <% =1woT) T 7 asl e

A. Sensorimotor/ Hd<ar|l. Begins about the .
S first grade to early|| [C. Tr-HsharcHh . 579 72 4 qd fepviasan
v adolescent, around

—— 11 vyears ‘oldf qaH . W‘l‘]aﬁ#mﬁ
e ¥ g feeiwesn|| D efiE-dtaes 11 e § 9w

ST 11 99 i

HATEH d<h
B. Preoperational/ II. Adolescent to
g -dfsharas ¢ adulthood
ferenoazr 9 aa=
C. Concrete operational/ |IIl. O- 2 years
Hd-dfssaras 0-2 a9 Vv

D. Formal operational/ IV. Begins about the

HTHIH-HisharH= v time the child starts
talking to about 7
years old/a=dai

ST wE #RS & Easy Notes 4u
T 7 asi deh Online Study

Choose the correct answer from the options
given below:

fr=r fag 1o faereat @ 9 wdt 3=y giaa:
(a) A-1V, B-I1, C-11. D-III
(b) A-II, B-lll, C-1V, D-I

(¢c) A-I. B-IL. C-III. D-TV
(d) A-III. B-1V. C-1. D-II >/
NTA UGC NET/JRF June 2621(01-12-2021 Shift-I)




The theory of meaningful verbal learning deals
with which of the following concerns ?

Tt fera Wi @ fagta faetated o
o TR - TRy amal o gafia § 2

A. How knowledge (curriculum content) is

organised/FT= ( UTSTwrAt @i fawaasg ) @i
& afeaa faar smar g

B. How the mind works to process new

information (learning)
T TEEH (AR ) W WEE w3
feam &9 & T g

O

C. How teachers can apply ideas about
curriculum and learning when they present
new material to students (instruction)

v e ferenfyai &t =1 W(Q@W)
m&ﬁwﬂwaﬂmmmaﬂ%%

D. How the students provide responses to
critical questions (questions response)

(999 - 3IW)
& I HT T B

E. How the institution has established a
language lab (infrastructure)
HEATT F ATHT WANTYIET @l FmgAr fed
YT @i & ( STaHT=ET)

Choose the correct answer from_the options

given below:/ et fau v faaweat o ¥ wWet 3w

T TT AT :

(a) A,Band C Onlyz"a‘u’aﬁ A. B 3R C

(b) A, Band D only/&a@ A, B 3R D

(c) A,Band E only/’éﬁa A, B IR E

(d) C,Dand E on]ym C.D 3 E

NTA UGC NET/JRF June 2021(29-11-2021 Shift-lll




The theory of meaningful verbal learning deals
with which of the following concerns ?

et INfeRE T @ Argia Prefaiead §

o for - fope amal 9 gafua & 2

\/ information (learning)

I

A. How knowledge (curriculum content) is

\A)rgamsed/aﬁ (ureT=at @t faagasg ) &
&9 At ferar smar 8

B. How the mind works to process new

% WHeHT (AR ) W WEE & 3]
feamT &9 & &ET B

Kns.(_ahmmmﬂmﬁéﬁﬁé -

T (Tt it favaawg) &1 39 swaftaq fEar s 2|
(u) qﬁﬁfﬂfﬁlﬁ mnn)aﬁﬁmm%gﬁwm%a
FE HT 2
(iii) 5@ foeres faanfdai &t o€ aneft (srew) wWad @
a9 9 usaadl AR M & day § found &
S fHY SR Fd €
o wifeas sform & fagia 2fae sifgea g wfaafa
T T AT1 3R BE F §H F ER W R S
forafta & W =ga i) faam

C. How teachers can apply ideas about
(‘/ curriculum and learning when they present
new material to students (instruction)

v e ferenfyai &t =1 W(Q@W)
m&mﬁwa@mmmaﬂﬁi

D. How the students provide responses to
critical questions (questions response)

(999 - 3IW)
& I HT T B

E. How the institution has established a
language lab (infrastructure)
WA 3 WTET GANITen @t e few
Y @i § ( STaET=ET)

Choose the correct answer from_the options

given below:/ et fau v faaweat o ¥ wWet 3w

& T HIAT
\u—)/A,BandConly/’aa‘a"ﬁ A. B 3R C
(b) A, Band D only/&a@ A, B 3R D
(c) A,Band E only/an_cla A, B3R E
(d) C,Dand E on]ym C.D IR E
NTA UGC NET/JRF June 2021(29-11-2021 Shift-ll)‘




Match List I with List I1.

TEi-1 @ht G=i- 11 9 gafera sifera:

List-1/a=-1 List-11/ T=i-11
Erik's stages of Approximate
Psychosocial Age
Development |ieahe 311
ufies ok 'ﬂfﬁ'ﬂmﬁm
faeTa & =T
A. |Basic trust versus| I. |Young adulthood
Basis mistrust/ gd Gl
Hifas fag™ aam
Hiferss sifagm™g
B. |Inmtiative versus| II. |Late adulthood
Guilv/9gser 9411 1S S FIALHA
Y
C. |Intimacy versus|IIL |3 to 6 years
Isolation/3TaLITam 39 6 ad
FATH Uhlehiahiul
D. |Ego integrity [ IV, |Birth to 12 _- 18
versus  Despair/ Months/ST-H & 12-
e, 18 "=
4T 93419

Choose the correct answer from the options
given below:

rer fau 7o fammeat & @ 9 ¥ FfAw:

(a) A-1IV,B-Ill, C-1, D -l
(b) A-llI,B -1, C-1l, D -1V
(c) A-1,B-Il, C-1V, D -l
(d) A-1I,B -1V, C-Ill, D -1

NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)




Match List I with List I1.

-1 @t g=i-11 9 gafea st

List-1/a=-1 List-11/ T=i-11
Erik's stages of Approximate
Psychosocial Age
Development |ieahe 311
ufies ok u%vmﬁa;
faeTa & =T
A. |Basic trust versus| I. |Young adulthood
Basis mistrust/ gd Gl

Hifas fag T
rnﬁmaﬁmm\ e

B. |[Imtiative wvers II. |Late adulthood

o

Guilv9gs LTS ehl da%ahdl
G|

C. |Intimacy . |3 to 6 years
Isolation/ 39 6 Ty

FATH Uhlehiahiul

D. |Ego integrity [ IV.\Birth to 12 - 18
versus  Despajfr/ Months/S=9 & 12-
e, 18 wEH
4T 934131

Choose the correct answer from the options

given below:

[ & &t 3+ g
a) AIV.B -l C-1.DJII ~/
v
(c)AlB llC lVD -111
(d) A-1I, B-1V,C -1, D -l
NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)

Ans. (a) : T qHEH faa 2-

Hifers fasr a4m 9 & 12-18 WM
nifers faam

T Hifes sAfae™ 3" 6 a
AT a9 THHIEO  -Td JFHhdl

3EH AT a9 THET -a1g S gl
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Assertion A : Teachers should accept students
as they are and with whatever cognitive level
they have.

Reason R : Moralizing, being judgemental,
exposing ignorance are barriers to successful
communication.

In light of the above statements, choose the
correct answer from the options given below

Hirer 2r aa g g € : ues Rt s sses (A)
ahqniaﬁl'aﬁ;(k)mw%

TR TT (A) : Orerant =nr =rfew fon o fafai=t
=R ST a9 |° w=iasT ahd Jdar fes o € 28T =7 oft
SHeRT AT =T 8

a<h (R) : fHsguaEar, oo (Ssdeer ) 8T
IrAfaAar (SEE-E ) R IANET ShiAaTr 9O%eT
HUHUT & AT & 37930 &

IuHTh ShAAl ok 3TTeiles O Ta=ifera faemear &
o TOEr 39T =94

(a) Both A and R are true and R 1s the correct
explanation of A/(A) 33X (R) &l 9 & 3
(R), (A) S T2T =g=Ar @

(b) Both A and R are true but R i1s NOT the
correct explanation of A/(A) FHIT (R) 24T 9o

g 9T (R). (A) I G&T =a=AT F81 @

(c) A 1s true but R 1s false .
(A) T& 2 W (R) 3199 2
(d) A 1s false but R 1s true
(A) 379 @ 9 (R) 94 2
NTA UGC NET/JRF June 2021(26-11-2021 Shift-1I)




Assertion A : Teachers should accept students
as they are and with whatever cognitive level
they have.

Reason R : Moralizing, being judgemental,
exposing ignorance are barriers to successful
communication.

In light of the above statements, choose the
correct answer from the options given below

Hirer 2r aa g g € : ues Rt s sses (A)

aﬂ'{gﬂi‘aﬁaﬁa(n)mw%

IFATHTT (A) : oTaTaRt ==t =rfaw fas o faareiat

=R ST a9 |° w=iasT ahd Jdar fes o € 28T =7 oft

FTHhT OATATH: &7 &

<k (R) : Tsgus@Ear, Foias (Ssdeer ) g8ET

IFATTAAT (ST ) /T SATT  HIAET TEBA

HUHUT oF AT | 379I0=T &

IuHTh ShAAl ok 3TTeiles O Ta=ifera faemear &

o g 39T =94 -

(a) Both A and R are true and R 1s the correct
explanation of A/(A) 33X (R) &l 9 & 3
(R)., (A) ST T =a3=AT & —

(b) Both A and R are true but RT1s NOT the
correct explanation of A/(A) 3T (R) 24T 9

g 9T (R). (A) &I T =TT F&1 €

(c) A 1s true but R 1s false .
(A) T& 2 W (R) 3199 2
(d) A 1s false but R 1s true
(A) ATHF 2 9+ (R) 94 2
NTA UGC NET/JRF June 2021(26-11-2021 Shift-1I)
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Given below are two statements

Statement I: According to Piaget, the ability to
solve conservation problems depends on having
an understanding of three basic aspects of
reasoning: identity, compensation, and
reversibility.

Statement II: The stage of classification does
not depend on a student's ability to focus on a
single characteristic of objects in a set and
group the objects according to that
characteristic.

In light of the above statements, choose the
most appropriate answer from the options
given below-

CUC RO RIS .
HUA-1: frarst & 19Er, HeerT e @t
T I i TITAT TohAT oh oI Tl Ugersll oh
argr ¥ Ty et §: aEreE, ufgr 3
feruzieftam
wHAF-11: Tffavor @1 ewur fRdt we de o
T @l Ueh fafytear oy shfga & 3 396
faforgar & or9am axgali &1 WUEEIUT AT
faft farmmmeff @ @ ov faady T8 @ 3
3IULTh HAAT oh 3Telieh W fAferfiad fasmedt |

'

(a) Both Statement I and Statement II are correct/
HY [ 3 11 g1 & 2|

(b) Both Statement I and Statement II are
incorrect/&H4A [ 3R 11 241 TTed 2|

(c) Statement 1 is correct but Statement II 1is
incorrect/&F4T [ 9l 2, ﬁa_—\j, FI9 11 Ted 2|

(d) Statement I is incorrect but Statement II 1s
correct/HIT 1 TeAd &, fhwg H94 11 Hel 2|

NTA UGC NET/JRF June 2021(26-11-2021 Shift-I)
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Given below are two statements
Statement I: According to Piaget, the ability to
solve conservation problems depends on having
an understanding of three basic aspects of
reasoning: identity, compensation, and
reversibility.
Statement II: The stage of classification does
not depend on a student's ability to focus on a
single characteristic of objects in a set and
group the objects according to that
characteristic.
In light of the above statements, choose the
most appropriate answer from the options
given below- )

ahaa fa=or 7o §:
wHAA-1: ATt & JIFEAR, FIGOT TEEATST T
TS HIA Sl ATTAT FGehAT oh o OoT Ugasil o6
=rer gy faedy et 8 arErer, afgw =i

Ans.(c):m%a@ﬂ,mmaﬁﬂﬂg@
ST Bl @ A ST S eIl & adT edeh Sfaedr |
a1l AN Ud 3 e & & FgeR diadr 2|
st & S1ER difes fawg &t sawen swnfafaa 2
aTaEe
qadr MHE

fara=i=firan
wHeaa-11: aiffesvor ekt =RuT fordl wes @2 W
TEITT il Tek fafyregar uy shfvsa & 3fiT S+%
fafstear & 3799 ag3T ohl TUERIUT hiar
ferdt farmmeff =it =ir=rar oz foradt =& sstar 8
HAAT oF 3TTeleh H faateriiga fassear o
a wE 3T gﬁ
(a) Both Statement I and Statement II are correct/
H9 1 3R 11 41 T8 2
(b) Both Statement I and_Statement II are
incorrect/®I 1 3R 11 AT TTeid 2|
(c) pAatement I 1s correct but Statement II is
incorrect/HF 1 §&l 8, foheg 47 11 7Ted 21
(d) Statement I 1s incorrect but Statement II 1s
correct/HIT 1 Ted 2, foheg FH99 11 961 21
NTA UGC NET/JRF June 2021(26-11-2021 Shift-I)
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Match List-1 with List-I1

List-1 List-11
Ericson's Psycho- Stage
social development
A. |Intimacy Vs.| I. [Normally after
Isolation retirement
B. |Ego integrity vs.| II. [Much of adulthood
Despair
C. |Generativity  vs_| IIl. [During adolescence
Stagnation
D. |[Identity vs_ | IV. |During 20 to 29
Confusion

Choose the correct answer from the options

given below/9=r fau 7o fa=weat ¥ 9 I

Ff=a:
T=i-1 @t g=- 11 ¥ gafera aaifag :
T=iT-1 T=-11
( TResa= a=ar- ( =¥uT)
araTtaes faast T )
A |afaEdar M| 1. [gmr=a:  garftagta &
TahTahi g E |
B. |31@9 gataeT| 1. [aas Staqd & a2 e
AT qIATEn o
C. |S9ar\msar  a=m\| 111, [feremaasen 1
fag=an
D. |z sSaHE| IV (20 ¥ 29 a9 &t 379 H
arfea
A B C D A B C D

(a) 1 I Il IV (b) II I IV 1
(c) III IV 1 I (d) IV 1 11 III
NTA UGC NET/JRF June 2021(25-11-2021 Shift-11)
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Match List-1 with List-11 - m" —_—
List_1 List-11 "JAns. (d) : Ty 1 i1
Ericson's Psycho- Stage ( _m ( =TT )
social development
A. |[Intimacy Vs.| I. [Normally after ﬁm)
Isolation retirement Elﬁ'EﬁT eI ma_ﬂ.qq = :
B. |Ego integrity vs.| II. |Much of adulthood A. IV.]20 ﬁ 29 aﬁ l ”g ﬁ
Despair B. [3@q wafter s-m| | [gmrad: daifagfa &
C. |Generativity  vs_.|IIl. |During adolescence
Stagnation hialbdl Rl
D. [Identity vs.|IV. [During 20 to 29 C. |SHTcHehdl W 11, (3356 Siaq & a9 75
Confusion ' g P i
Choose the correct answer from the options TTferTTel A
given below/s=r fau 1o faewcar ¥ = 3213 D. |aifamar aam 9 111 [frenaaeen |
dfan : »
g=it-1 skt g=i-11 ¥ gafaa ey, :
Tet-1 Tt-11
( TfRema= |=ar- ( =I30T)
arAaTses faasra )
A |afaear | I |[g9mr=a: garagta &
THTHa GG E
- asy Notes 4u
B. |39 gt 11, msﬁaqésa?;‘ww On%neStud
FHATH 9IS e | y
C. [saar=msar  a=m| 111 [feenaasr °
fagi=ar —_— T
D. [3f&Far FAHE(IV.[20 ¥ 29 a9 =1 3719 | e
aif=d
A B C D A B C D
(a) 1 11 I 1v (b) II III IV 1
(c) III 1V | 11 (d) IV 1 I III
NTA UGC NET/JRF June 2021(25-11-2021 Shift-11)




Match List I with List II:

(@) (A)-(IT), (B)~(I), (C)-(1V), (D)-(III)
(b) (A)-(I), (B)-(IT), (C)-(1I1), (D)-(IV)
(¢) (A)-(IV), (B)-(I1I), (C)-(11), (D)~(I)
(d) (A)-(ID), (B)-(IV), (C)~(1), (D)-(I1)
NTA UGC NET/JRF June 2021(22-11-2021 Shift-I)

T=i-1 o |t g=i- 11 @t fae sfsa-
List-1/3T=i1-1 List-11/g=i-11
Modalities of Implementation/

Teachin
gttt
(A) |Instruction/ (I) |One way imposition
31@917{ of 1deas from the
teacher to the
students/faafedai gz
o & famad =
UhHa{®HT 3907
(B) |Training/ Sf¥m0T| (1I) [Associative
presentation of ideas
from teacher to
students/f¥re3H T
faenfef=i =1 faai =6
gl g&fa

(C) |Conditioning/ (II1) | Disciplined drill

AT conducted by teacher
fererss zm Harfea
e 3IH

(D) |Indoctrination/ [(IV)|Active interchange of

ideas between

teacher and students

faenfefai ik s &
s faad =1 afsa
TETH-9a19

A D
o —



Match List I with List II:

(a) (A)-(ID), (B)-(I), (C)-(1V), (D)-(1II)
(b) (A)-(I), (B)-(II), (C)-(11), (D)-(IV)

(c) (A)-(IV)_(B)-(III). (C)-(I1), (D)~(1)

(d) (A)-(I1D), (B)-(IV), (C)-(1), (D)-(1I)
NTA UGC NET/JRF June 2021(22-11-2021 Shift-I)

Ans. w&:’lﬂﬁwg@fﬁ?ﬁﬂ%

T=i-1 o |t g=i- 11 @t fae sfsa-
List-1/3T=i1-1 List-11/g=i-11
Modalities of Implementation/

Teachin
gttt

(A) |Instruction/ (I) |One way imposition

of 1deas from the
teacher to the
students/faafefai  ax
7 | F faad &
/ THdTHT 90T
(B) |[Training/ (II) | Associative
presentation of ideas
from teacher to
students/femIH T
faanfed=i =1 faai &
gl g&fa
(C) |Conditidifing/ (I11) | Disciplined drill

A conducted by teacher
o =z dafea
. e 3IH
(D) |Indoctrinjdtion/ [(RV) |Active interchange of
HAT9oT ideas between
teacher and students

feranfefat 3t s &
s faad =1 afsa
TETH-9a19

" Toterur YuTteTa ST RTUT

NIERE (IV) [fafdat ot foes & o
foari &1 afsha 3EE-3TE

(B) [wfemegor (1) | g darfew
S 372 .

(C) |zra=m (1) |fewrs & faanfdat a1 faam
1 wEard wEqf

(D) |Harguy () |foentdar w ferers & faam
HT THAH RG]




Types of resources available to a teacher for
professional development and learning includes:
(i) Professional literature (ii) Colleagues {\«

(iii) Professional associations _—
iv) Professional developmental activities

& Haulud faw™ Td AW gg
IUCTE] WAL & Y W Wiwferd
(i) ST Aliged (i) TgehH
(iii) SHaATe witfaar
(iv) SFaETae faawmars feharaarg
(a) only (i)/&ad (i)
(b) only (11)/ Fad (i)
) (1), (1), (111) and (1v)/ (1), (1), (111)3ﬂ1(1v)
)

(c
(d) None of these /ZH q & T



o

Types of resources available to a teacher for (™ [Apg, () : e % 79 (99N @ A %@
professional development and learning includes: T TAA & Y § g -
(i) Professional literature (i) Colleagues , ;
(ii) Professional associations (i) i e (i) e
iv) Professional developmental activities (1n) 0t (DERR DI
& oIawiad taam U W e |Gy) i R G
T WA 36 e whfer ¢ o o fogea
(i) Tawfe wfged (i) TEehHt
(i) ErarwTTeR Wit
(iv)mm oA " || Easy Notes 4u
(a) only(l)m (1) _ Online Study % -

(b) only (ii)/ 3 (ii)
A©) (i), (i), (i) and (iv)/ (i), (ii), (iii) 3 (iv) /
(d) None of these /3T g 3% T



The teaching strategy which will be best suited
to deal with students who in terms of
performance readiness level are in the category

of 'able but unwilling', will be :
foreqres FaTaTET é we o o ferenef ‘wam
T Afege’ @t o § e fau waifuew
Iugh Torarer Turifa o grfi:
(a) Assigning challenging tasks and delegation of

roles F A A g &
yfafafere T

(b) Involving in tasks and providing socio-
emotional support with scope for recognition/

FA H AT AA qHIfSE-Hamerd  qHdA,
forll v fohw S 1 T[SRW & $eH &

¢) Mentorin and uidin with  close
W supervisignfﬁ'l? d ‘Tﬁéiﬂ'ﬂ'lg% g WHY U9
fegn-fade &
(d) Keeping the tasks specific and easy/&al
fafere a & 99T WA _—
UGC NTA NET JRF Jun€2020 (4 Nov.) Shi@




The teaching strategy which will be best suited
to deal with students who in terms o
performance readiness level are in the category

of 'able but unwilling', will be :
mmémﬁﬁM‘m
U fege’ @ W § 39 fow waifue
Iugh freror wurifer @g gt

(a) Assignin challenglng tasks and delegation of
roles/?fﬂgﬂ‘{"f & aar  gferstt &

gfafferea e

) Involving 1n tasks and providing socio-
emotional support with scope for recognition/

H T a9 gmiSe-d Tqe,
forad vgam fou ST &t T[R9 @ S&H

(c) Mentoring  and uidin with  close
supervision/fTe ¥ ‘Tﬁ%&ﬂﬂ% g WHy Tg
fegm-fader g

(d) Keeping the tasks specific and easy/&al &l
fafere @ w3 amT W
UGC NTA NET JRF June 2020 (4 Nov.) Shift-11

Ans.(b) 1 g & fore fows g fofi o

T T 21 - R A & &
ol e Vs o1 114 5% A o
T T TG Fae anda o vgee for S &
T 1 Y T T 3V O e 2
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. Which level of teaching uses higher level of
cognitive abilities as specified in Bloom's

taxonomy?
e & BE-TH W e fawe ° 9\Lo
o FaféE s A @ WA e 37 _—
(a) Memory level/Sjfd &

(b) Understanding level/31@aTY &

(c) Reflective level/famsif &R

(d) Autonomous development level/ %13t fo@m &

UGC NT:A NET JRF June 2020 (4 Nov.) Shift-[[




. Which level of teaching uses higher level of
cognitive abilities as specified in Bloom's
taxonomy?

e @ B-W W & A fage o
71 FFT T AT A A F 3

(2) Memory level/Bjfd &R

(b) Understanding level/#daly &R
(@eﬂective level fameff ) %

(d) Autonomous development level/ 4t o W

|

UGCNTA NET JRF June 2020 (4 Nov.) Shift-11

(3w das & 3w & d

| [Ans. (¢): ﬁqaﬁmﬁﬁﬁfﬂ?mﬁ@%

TS, A 3N e 8 WY & fou

o g1 e & fomef W s & el
# 791 1Sy S e & A e 2

e
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Which  of the following  emotional
characteristics are of crucial significance in
adolescent learning?

farym e o frer o d-ae | ST ,:l/l/
fergreamd frrtes weea @t 87 _—
(a) Feeling of group belongingness/¥Hz ¥ g
cAR G|
\/(b) Hero-worship and sentiments/AT&%-Gall 3
gag

(c) Expanding emotional ties with those in the
neighborhood/‘il@ﬁlﬁ & WY qETHS Hai

1 fawnr

(d) Dependence processes and making friends/
e 3 3R fi a

UGC NTA NET JRF June 2020 (5 Nov.) Shift-1




A student finds its difficult to understand,
analyse and interpret the concepts and
principles relating to a subject of study
formally prescribed. Which learner
characteristics would be most relevant in such
a situation to be probed?

U faenedf &t sfgenfias wu ¥ fafga fawa =
TS W FgUrund 3w fagiat & sraare,
favegur 3R =amEn § wfesarg gidr 3 U
forfe o sifirmaeal & & -9 3fTersror
( FagraaTaTt ) S S AT 9ad 6Ia g

(a) Academic characteristics/91f&/%  31f3rcegu/

fareryamd
(b) Social characteristics/aMIfsah 3=

AR .
(¢) Emotional characteristics/ddaATdla fierequr/
fargramd

(d) Cognitive characteristics/H-IHE AT/

fagramd
UGC NTA NET JRF June 2020 (13 Nov.) Shift-11




A student finds its difficult to understand,
analyse and interpret the concepts and
principles relating to a subject of study
formally prescribed. Which learner
characteristics would be most relevant in such
a situation to be probed?

uw feameff & fuenfies o @ fafga fawa &
TS W FgUrund 3w fagiat & sraare,
favegur 3R =amEn § wfesarg gidr 3 U
feafae o oifirmmeal & @F-T  IfTeraroT
( FagraaTaTt ) S S AT 9ad 6Ia g

(a) Academic characteristics/91f&/%  31f3rcegu/

fareramd
(b) Social characteristics/aM™Isiah 3T qeT=IUY

FergreaTd .
(¢) Emotional characteristics/ddaATdla fierequr/
fargramd

UGC NTA NET JRF June 2020 (13 Nov.) Shift-1I

Ans. (d) : StTET @ FFEIEE favSas @ S
A FIH T A A fomdf & sivaia w9 9
ffed fava & s # smumoms R fogid &
aay, favermu 3 e ¥ #fe a2

\A) Cognitive characteristics/S3HIHSH HAfgegU/
fagramd

UGC NTA NET JRF June 2020 (13 Nov.) Shift-11
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In the following statements, identify those
which are related to characteristics and basic
requirements of teaching at the understanding

level./frreferfiga se=t W 3ra@ater W u¥ fyraor

@t favrwarel dur owd  navadaren W

et e @ TEe wH-

(1) Teaching stresses recitations of facts and
information/fI0T G2l 3R o1 & WU
W e &l 2|

(2) Teaching becomes an activity to promote
seeing of relationships among facts and

information/f¥refoT AR gEA & 9
Tadl F I@ F TgEr A F 0F ey 2

(3) The teacher expects that student will be able
to translate and interpret the meaning in their

own words/fere 319em & 2 & faandf s
vl § 3w & wuie 3R e & |
T g T |

(4) The teacher insists on recall and recognition
of facts presented/fteis W&qd a2l & AT
IR A W 2 2

(5) The teacher gives a large number of examples
to being home the main ideas/ ¥
foar & TP & & fou ot de § IR
& 2|

Select the correct answer from the following

options.

freforfiaa fasmeat § ¥ TE 39T &l 999 -

(a) 1,2and 3/1,2 X3 (b) 3,4 and 5/3, 4 3RS

(¢) 1,4and 5/1,4 35 (d) 2,3 and 5/2,3 35
UGC NTA NET JRF June 2020 (12 Nov.) Shift-II
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In the following statements, identify those
which are related to characteristics and basic
requirements of teachin 5 at the understanding

level./frefefiaa wa=t ¥ sr@arer @1 uv e
& fovrearen qOT gEYd  navadaneii |
e Ao @ TEee F-

(1) Teaching stresses recitations of facts and

information/fI0T G2l 3R o1 & WU
W Fe & 8|

(2 eaching becomes an activity to promote
seeing of relatio s among facts and

nshi
information/f3requr H?Il:? 3ﬁ & 0
Wmaﬁé@ﬁﬁmﬁﬁﬁ@nﬁrﬁfﬁan

(3) The teacher expects That student witt be able
\/ to translate and interpret the meaning in their
own words/f¥erd 3rer & 2 f faendf s

veal § N 1 ®uier 3R fded # |

e & ek | ‘QO\\/

(4) The teacher insists on recall and recognition

of facts presentedfﬁT&EE qEAd a=gi & qA: T 0T
AR A R 9 a1 2|

(5) "The teacher gives a large number of examples

\/ to being home the main ideas/f¥™% T
fauar =1 @y =3 & fou 3t 9= 7§ 3ERT
Select the correct answer from the following

T 2| —
options. )
faereal O & W& 3T T ITF hi-
(a) 1,2 and 3/1, 2 3R 3

b) 3.4 and-SB-d XS _
(c) 1.4 and 5/1,4 35 zd) 2,3 and 5/2, 3 31 5 >
UGC NTA NET JRF June .

Ans(d) f@meﬁqﬁraﬂaﬁﬁgﬂhzamﬁhﬁ%
Wﬁ%a‘rﬁmwaﬁmmaaﬁsﬁﬁ
HEHET d9’d g UH 9%a e @ F®  "ewyul
ﬁﬁmﬁﬁﬁlwﬁwﬁ@m@m
frTaa &-

o fUmyur adl 3R I & WA Wal & @ &
dgmal a4 & us Tfafafy 21

o fYmrs amien wtar @ & faondf 39 wsdt # i
FT FURUT U fAdea & | 99 8@ 96|

o fYmss faar & @y & & fau It den °
32807 <l 2|




